
ղ)

(1) f(x) = x3 + ax2 + bx+ cͱ͢Δ.

৚݅ (Ξ)ΑΓ, f(x) + f(−x) = 0Ͱ͋Δ͔Β,

f(x) + f(−x) = (x3 + ax2 + bx+ c) + (−x3 + ax2 − bx+ c)

= 2ax2 + 2c

= 0

∴ a = c = 0

৚݅ (Π)ΑΓ, y = 2ͱͷ઀఺Λ tͱ͢Δͱ,

{
f ′(t) = 0
f(t) = 2

{
3t2 + b = 0
t3 + bt = 2

∴ t = −1, b = −3

(2) (1)ΑΓ f(x) = x3 − 3xͱͳΔͷͰ,

f(x)− 2 = x3 − 3x− 2 = (x+ 1)2(x− 2)Ͱ͋Δ͔Β, άϥϑ͸Լਤͷ௨Γ.
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y = x3 − 3x

y = 2

O

ΑͬͯٻΊΔ໘ੵ͸,

−
∫ 2

−1
{f(x)− 2} dx = −

∫ 2

−1
{(x+ 1)2(x− 2)} dx

= −
∫ 2

−1
{(x+ 1)3 − 3(x+ 1)} dx

= −
[
1

4
(x+ 1)4 − (x+ 1)3

]2

−1

=
27
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